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Frx
= g & B &t E i = & == ] z B £ B 8
i ® ARE® (M) (M) (M) (ke)
WA 66.0 ERE 63.2 1,134 1,134 540 15
IZALA 315 BRE - - - PR
IZALCA E & 22.3 2,700 — 2214 10 vay M
ZIES5 0.9 BRE 0.2 1,728 — 1,620 2l A L
ZIES5 N 0.3 2,430 2,268 2,106 4 L
fzIFDC BRE - 76 — 1 4
[E<E0LY 34.0 ERE 30.6 1,458 1,458 1,296 15[ A 6
[F<E0Y =0 1.9 — 1,620 — 15] vay 6
HTE 25 2 1.8 1,728 1,404 1,296 4 A L
ZEDIE 7.7 2 [ 5.2 1512 1,296 1,296 4 A L
FrRY 131.2 ERE 122.2 1,080 — 972 10 8
IE5SNAZES 4.8 2 [ 2.6 3,564 1,944 1,728 6] A L
hE 12.5 BRE 7.0 1,404 1,296 864 3l A L
hE X & 4.4 1,512 - 1,296 3l A L
_hE 2.0 = B 1.3 3,240 2,592 2592 3 M
SE 0.2 BRE 0.2 918 918 302 1
1Z5 42 =0 2.3 3,780 2,970 2,430 5 vay
+)L)— 1.3 2 [ 0.9 2,808 — 2592 0] A M
FRINGHR 1.0 N 0.8 270 270 259 0.1 vay L
Hh)o257— 0.4
JOyal)— 23.9 £ % 7.2 — 3,240 — 6l vam L
LAR 41.2 BRE 194 184 162 0.1
LA E & 28.5 1,890 1512 1,512 10 12
FoTHA 24 BRE 1.9 1,944 1,728 1512 4f A L
=p5Y 18.0 BRE 11.8 1,836 1,620 1,404 5/ A L
=p5Y ElG 5.6 2,376 1,728 1,620 5] A M
ANESSED) 13.6 =P 12.9 1,944 1,350 1,296 10l vay 7
Y 4.7 BRE 0.4 2,160 — 1,728 4f A LL
B B K 42 2,700 2,376 2376 5] vay L
k< 19.0 BRE 12.6 1,728 1,512 1,372 4f A M
k< BE X 5.5 238 238 227 0.5 5
I=kTh 7.6 BRE 7.1 151 119 119 02 A M
I=kTh B K 0.5 2,592 — 2,160 3l vay 44
E—<> 17.5 BERE 16.8 6,480 5,832 5,443 7.8 A M
E5EACL 0.4 =l 0.4 2,808 — 2,160 6 L
T35 0.4 BRE 0.3 162 140 130 008] A M
[ZH5Y 1.3 BRE 1.2 2,592 1,836 1,728 3l A L
[ZA5Y =I5 0.1 - 3,888 - 6] A L
SPVAITFA 0.8 BRE 0.8 3,780 2,808 2,808 2l A
SPZAES 0.1 = B 0.1 3,780 — 3,672 2 A
E—X BRE - 1,728 — 1
ZHEH 0.2 RS 0.1 - 4,104 — 4f vay L
MHALE 43 EEES 25 2,484 2,160 1,944 5 L
[E€ AT 33.2 BRE 25.8 1,944 1,944 1,188 0] A LL
=L 0.4 BRE 0.2 1,458 1,458 972 5
B 2.2 "5 & 1.3 - 4212 — 10 B 3L
f=FEh&E 56.4 BRE 44 1,080 648 648 0] A L
=Fh&E = B 51.7 3,780 3,024 3,024 20 Va9 L
IZAIZK 25 ol 2.1 — 486 — 1 4L
5oELD 42 BRE 42 5,400 - 4860 10 M
EBLEINA 15 E X 0.6 - 1,944 - 4
HELLV=IT 2.1 = 1.4 119 119 108 0.1 A L
ZDEET 55 K & 2.2 43 43 39 0.1 A
ZDEET =l 1.7 40 — 26 0.1 A
LHL 3.0 2 [ 3.0 97 - 81 0.2
ESES T 570.6
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o ® ARE® (M) (M) (M) (ke)
HED2HAMA 49 BRE 2.0 2,160 — 1,620 10 vay L
HE2HMA = B 2.9 — 648 — 10 L
LEY 1.4 TA)H 1.4 10,584 9,720 9,180 17 115
INLUYVT 2.0 TA)H 2.0 9,720 9,396 8,640 17 72
L7y 0.4 T A)H 0.3 — 6,588 — 15 48
BR 1.8 BEIR 1.0 - 2,592 — 0] A S
BR O 0.6 — 346 — 0.8 5
HHE 1.4 =l 14 - 3,240 — 0] A M
Lo 1.4 BRE 0.1 — 2,700 — 10 vay
L5SHU E X 1.4 1,944 — 1,836 5[ 7hv1 24
HmoHhrAED 24 B K 1.5 - 756 - 7.5 7hva M
T=AhA 0.1
YATE 15.5
3+TI)LK 5.2 5 # 5.2 3,780 — 3,499 10 vay 36
AL 8.6 5 & 8.6 6,696 5,832 5,724 10[ MA 36
% 1.6 "5 & 1.6 3,024 2,592 2,592 10] LYy
Uh 0.6 BRE 0.6 216 162 108 0.4
W5 5.9 BRE 3.6 378 324 324 025 A LL
AOVEF 4.4
7—ILR 0.6 BRE 0.6 — 1,944 — 2| 7hva LL
ZFDAOY 3.6 BRE 1.2 — 3,672 — 4| 7hya 3L
ERRYOY1s 10.8
ERRY 9.3 BE 8.3 - 6,480 — 13[ 7h¥2 L
INFF 21.7 EYEY 21.0 3,996 2,808 2,700 15
NAFyFTIL 5.3 EYEY 5.1 3,024 2322 2,322 10 8
FoA4T)LY 1.0 —T 0.7 4,860 4536 4536 5.8 22
RERET 82.9




